	# 1
	Notes: 

	Stem
	The position at which identical chromatids are joined is called the:

	Title
	

	R1
	centromere

	R2
	

	W1
	constriction center

	W2
	centriole

	W3
	kinetochore

	W4
	aster

	# 2
	Notes: 

	Stem
	A difference between monerans and protistans is:

	Title
	

	R1
	protistans have nuclei

	R2
	

	W1
	protistans have cell walls

	W2
	monerans have cellular organelles

	W3
	protistans fix nitrogen

	W4
	monerans are heterotrophs

	21-
	Notes: 

	Heads
	Stems
	Answers

	Title
	This is a demonstration question showing multiple stems having the same right answer.

	#Q/Ke
	6
	

	Qs/A1
	Stem 1
	Answer 1

	Qs/A2
	Stem 2

Stem 3
	Answer 2 (for Stem 2 & 3)

	Qs/A3
	Stem 4
	Answer 3 (for Stem 4)

	Qs/A4
	Stem 5
	Answer 4 (for Stem 5)

	Qs/A5
	Stem 6
	Answer 5 (for Stem 6)

	# 3
	Notes: 

	Stem
	Protection against disease is a function of:

	Title
	

	R1
	all of the above

	R2
	

	W1
	mucous membranes

	W2
	immune system

	W3
	complement molecules

	W4
	skin

	# 4
	Notes: 

	Stem
	A single individual mature B cell can:

	Title
	

	R1
	make antibodies against only a single antigen

	R2
	

	W1
	differentiate into a macrophage

	W2
	differentiate into a killer T cell

	W3
	make antibodies against several different antigens

	W4
	leave the lymph node to search out and destroy invaders

	# 5
	Notes: 

	Stem 
	A plant under bright lights is treated with a compound that destroys NADPH and ATP immediately after they are formed.  The result will be:

	Title
	

	R1
	light reactions will continue but dark reactions will stop

	R2
	

	W1
	dark reactions will continue but light reactions will stop

	W2
	none of the above

	W3
	photosynthesis will continue normally

	W4
	sugars will be produced normally

	# 6
	Notes: 

	Stem 
	The type of cell of the immune system most likely to be directly infected and killed by the AIDS virus is:

	Title
	

	R1
	helper T cell

	R2
	

	W1
	antibody

	W2
	phagocyte

	W3
	memory cell

	W4
	killer T cell

	# 7
	Notes: 

	Stem 
	In the inflammatory response (     ) carry out the work of ridding the tissues of foreign particles and microorganisms.

	Title
	

	R1
	phagocytic leukocytes

	R2
	

	W1
	erythrocytes

	W2
	T lymphocytes

	W3
	lymphocytes

	W4
	platelets

	# 8
	Notes: 

	Stem 
	The primary mechanism that transports water to leaves is:

	Title
	

	R1
	transpiration pull

	R2
	

	W1
	root pressure

	W2
	active transport

	W3
	capillary action

	W4
	evaporation push

	# 9
	Notes: 

	Stem 
	The information that codes for the construction of cell parts lies in:

	Title
	

	R1
	chromosomes

	R2
	

	W1
	all of the above

	W2
	ribosomes

	W3
	the cytoplasm

	W4
	the endoplasmic reticulum

	# 10
	Notes: 

	Stem 
	Most of the atoms that make up a plant’s tissues come from:

	Title
	

	R1
	air

	R2
	

	W1
	mycorrhizae

	W2
	soil

	W3
	none of the above

	W4
	dissolved minerals

	# 11
	Notes: 

	Stem 
	A characteristic that allows bacteria to survive adverse environmental conditions:

	Title
	

	R1
	all of the above

	R2
	

	W1
	high rates of mutation

	W2
	spore formation

	W3
	rapid multiplication

	W4
	

	# 12
	Notes: 

	Stem 
	The number of DNA molecules in one chromosome right after telophase of mitosis:

	Title
	

	R1
	one

	R2
	

	W1
	two

	W2
	more than two

	W3
	none

	W4
	none of the above

	# 13
	Notes: 

	Stem 
	Viral infections might be suppressed by:

	Title
	

	R1
	keep the capsid from attaching to a cell

	R2
	

	W1
	treat the host with antibodies

	W2
	all of the above

	W3
	treat the host with drugs that suppress the immune system

	W4
	treat the host with drugs that kill mycoplasmas

	# 14
	Notes: 

	Stem 
	A key difference between mitosis and meiosis:

	Title
	

	R1
	only in mitosis are daughter cells genetically identical to the parent cell

	R2
	

	W1
	sister chromatids separate during mitosis but not during meiosis

	W2
	only mitosis has a metaphase

	W3
	DNA synthesis does not occur during anaphase of mitosis

	W4
	all of the above

	# 15
	Notes: 

	Stem 
	A scientist puts radioactive CO2 (the oxygen atom is radioactive) into an illuminated chambeer containing a plant.  A few minutes later, he dissects the plant.  The radioactive oxygen will be in a molecule of:

	Title
	

	R1
	glucose

	R2
	

	W1
	ATP

	W2
	NADPH

	W3
	oxygen gas

	W4
	more than one of these

	# 16
	Notes: 

	Stem 
	What do antibodies do?

	Title
	

	R1
	all of the above

	R2
	

	W1
	attract marcrophages

	W2
	mark an antigen for destruction by complement molecules

	W3
	cause allergic symptoms

	W4
	cause bacteria to clump together

	
	Notes: 

	Stem 
	Metaphase of mitosis is characterized by:

	Title
	

	R1
	the orientation of chromatid pairs at the cell’s equator

	R2
	

	W1
	condensation of the chromatin

	W2
	replication of the chromosomes

	W3
	formation of the mitotic spindle

	W4
	separation of chromatid pairs

	# 18
	Notes: 

	Stem 
	A sperm cell contains (     ) copies of each chromosome.

	Title
	

	R1
	one

	R2
	

	W1
	three

	W2
	none

	W3
	two

	W4
	many

	# 19
	Notes: 

	Stem 
	A plant is kept in a dark, sealed container.  What would happen to the composition of the gasses in the container?

	Title
	

	R1
	carbon dioxide will increase

	R2
	

	W1
	nitrogen will increase

	W2
	all of the above

	W3
	oxygen will increase

	W4
	

	# 20
	Notes: 

	Stem 
	In a cell containing eight chromosomes, meiosis results in the formation of (     ) pairs of homologous chromosomes in each daughter cell.

	Title
	

	R1
	no

	R2
	

	W1
	four

	W2
	one

	W3
	two

	W4
	eight


